EiBEERbAEBR

%%%HXH =

SHAEE BETHICBTIERSEMEOERAERTLERE

X MY BAERE. BEhARERUANADEDENESUIBENH B, FUurO— RFET>LBAAXIEEA
' Lz!bb‘éhk%'lﬁik[‘ﬂé%@tb BEEEICEDLLT IE=FNORHTA] Z2T70RVTILEZ,

X THEZBEAORMITAI &3, BFT—IDEE, 53\ HS L TEDFRICEDLLF, FooO—k
=110 t(EIAR(i&iAM%@ﬂE% L&D 2 XFAICOENB—VDITAERLET,



AEIZCHTHERFRHNOEAARRTES

27 #4 - 5t LK HE &5 HE
BRI 9, 256, 700 + 196, 176
' 1% 9, 452, 876
TEEAER
1=® 9, 256, 700
BEER |
1= 196, 176
Dt R 9,256, 700 X 53.85% (35% =+ (1 — 35%) )
1=X 4, 984, 732
HFEIR A 9,452, 876 + 4,984,732
v 1= 14, 437, 608
—REEREE 14, 437, 608 X 53.85% (35% = (1 — 35%) ) — 2, 259
: 1= 7,772, 392
EHK Mg 14, 437,608 + 7,772, 392
1= 22, 210, 000
HEBRSHSE 22,210,000 X 10..00%
' L 2,221, 000
FE LS MiE 22,210,000 + 2, 221,000
[ 24, 431, 000




BERRE

BETRICE3ERRUMHOFAHRREES

2% - B - Rt AL BE Bl &% )
BEER -
9, 452, 876
géliﬂaﬂéﬁﬁiﬂﬁﬂwﬁmﬁ%ﬁﬁ
9, 452, 876
EEI?EBHéﬁﬁiﬂﬂﬂwﬁmﬁ% ‘ |
FIRH 9, 452, 876
BITER
9, 256, 700
HEER
" 483, 000
TR -
o 1.00 483, 000 483, 000
¥Bi1at
639, 000
- 2 EBrinE ,
] 1.00 125, 500 125, 500
e T |
G 3. 00 109, 800 329, 400
4 BRIEHRE
' &l 1.00 184, 100 184, 100
ERZEMHICET 2 B ENRNE -
I8 - S 1,520,100
5 EREEHEICET 2 EERE
(2R , EE (7 —X) 1.00 293, 400 293, 400
6 BRALHHOERBOICHT
SRR - 2R - 947 (1) BB (r—2) 1.00 293, 400 293, 400
T ERBEHAOEREOCHT ,
,éﬁ#m% FER -9 0) EE (5—2R) 1.00 466, 650 466, 650
§ EREDHEOERASISOES :
, EH (r—2R) 1. 00 466, 650 466, 650
ERERHEERICET 58 -
2,222,100
I ERREHHOERCELE
StaniEEdE s o Kk Rl st




BEARE

BEIEBICHT BRIV HOERL KRR EHS

2 : : B4 - Fek<E B 2 Bl &8 wE
TR T e TR ' EH (7 —2) 4.00 466, 650 1, 866, 600
10 EREDHHEERT 515
BOEBROMY - B2 EA (r—2) 1.00 355, 500 355, 500
#HEBE O RICHET 3%
746, 450
11 —AaHEORETOEZR
DR EE (—2) 1. 00 279, 800 279, 800
17 EXREHHORE 7O LR
SRy SB]E HEA (7 —2) 1. 00 466, 650 466, 650
ERZRFHOBUNEFICETS , )
et , ' ' _ 933, 300
13 BROLK |
: A (5 —2) 1. 00 466, 650 466, 650
14 —BRENREOB T . _
‘ B (7 —2) 1. 00 466, 650 466, 650
BRHASDEETIE _
1, 249, 900
5 REROEELE |
HEE (r—2) 2.00 239, 450 478, 900
16 BRtSER (8) /ERk
HE (7 —2X) 2.00 385, 500 771, 000
= a7 WVER
‘ ' 852, 150
17 v =2 7 VEROBE
. HE (r—2X) 1. 00 466, 650 466, 650
18 v =27 MER
BHE (r—2) 1.00 385, 500 385, 500
BEY
610, 700
19 EXEREEDOER ,
- 1.00 610, 700 610, 700
BEEZE
196, 176




EHEARE

| BBIEICHHERREHHOERAFRNES

B B - FkhiE OB 2 Bl S8 BE
EXHRE :
86,176,
0 EHARE
% 1.00 86, 176 86, 176
EBRERE
110, 000
2 EBRRSE
' - 1. 00 110, 000| - 110, 000




1 EHE 20

1XEHY
B B = {ifi il S
HEn& A 66,900 133,800
F{(EHRET A 58,600 117,200
FERA A 51,200 128,000
BB A 41,600 104,000
&t 483,000 483,000 [fEX8EN: 1R
2 BHTHE ' :
1[EHY
G % {ih & " =
HEhE 66,900 66,900
FEHER 58,600 58,600
=1 125,500 125,500 |1EEREH:1[E]
3 RS
1[EHY
% = {i £ MOE
I (EBE 1. 58,600 58,600
A 51,200 51,200
S&t 109,800 109,800

E%8EH: 1M




4 HEB|E

1EHY
= & HE | e TR = S
REE x 0 66,900 66,900
e N 20 58,600 117,200
it 184,100 184100 [fERAER - 1
5 EREFERMBICETAERINE - BE .
‘ | VEE (T —R)%Y
= & HE | HE B i S
HETIA N 20 51.200 102,400
RETB x 25 41 600 104,000
Higa A 3.0 29,000 87,000
5 293.400 293.400 |F 28R 1THB(T—R)
6 IR ERMEOZEAEN T EHINE - &= - () ‘
' 1IEEHE—R)HY
Z % W | HE PR & w =
RETA N 20 51.200 102,400
RERB A 25 41,600 104,000
Y] A 30 29,000 87,000
T 293.400 293.400 |{FEEEH 1EE(T—X)




7 ERRRAMHOERERNICET 5 EEINE - BB )

1HBr—R)HY

B % B | BB B MW = S
REE N 5 66,900 100,350
T BT A 15 58,600 87.900

HRERA N 30 51,200 153,600

RETB A 30 41.600 124,800

- 466,650 466,650 |EX8E 1 1ER(T—X)

S ERFZEMBOEHESHDER
| EAG—R)%Y

= 7 EE | HE H P S
TR N 5 66,900 100,350
T ERE A 15 58,600 87,900

RETA A 30 51.200 153.600

HRETB N 30 41.600 124,800

it 466,650 466,650 |fFERE - 1BA(T—R)

9 EkFHMHOERIELBTEEY ERAMHOKREE

1RB—R)5Y

% Hi | #= L & W =
A& A 1.5 66,900 100,350
FERE A 1.5 58,600 87,900

FRAMA A 3.0 51,200 153,600

FEB A 3.0 41,600 124,800

Hat 466,650 466,650 |1EXREN:1IEH (T —X)




10 ERFEMHEERTOIEEOEE/AOH - EE

1IRE(r—2R)8Y

£ B e B & i i
EX=351:] A 1.5 58,600 87,900

EERA A 2.0 51,200 102,400

HEhB A 2.0 41,600 83,200

e A 2.5 32,800 82,000

&t 355,500 355,500 |{EX8EH:1THB (7 —R)

11— A OBE T O LR DB E
| | 1EE (7 —R)4Y

% Hifu = H _fl B i1
FEHEm A 1.0 58,600 98,600

EARA A 1.5 91,200 76,800

FRIB A 1.5 41,600 62,400

HEiC A 25 32,800 82,000

=X 279,800 279,800 [({EXREN1EHBEEFT—R)

12 ERBEAMBOBRETOERICET BI85

. 1EE (r—R) &Y
m_ % By #HE B i i
kiR A 1.5 66,900 100,350
EXER5 1] A 1.5 58,600 - 87,900

RERA A 3.0 51,200 153,600

FEfB A 3.0 41,600 124,800

= 466,650 466,650 |1EXEREN:1IHEHIT—R)




13 EHO LR

1IHBE—R)EY

R % By i & % S
B E A 15 66,900 100,350
FEEER A 15 58,600 - 87,900
HEmA A 30 51,200 153,600
FEB A 30 41,600 124,800
&5t 466,650 466,650 [{EZEH:1THBE(—X)
14:%&&%%%%@%&
, 1IHEHEG—R)HY
A B HE il £ %8 S
B E A 15 66,900 100,350
T HER A 15 58,600 87,900
FHRA A 3.0 51,200 153,600
B A 3.0 41,600 124,800
&5t 466,650 466,650 [fF3ae S : 1HH (7 —2)
15 RIS DEEXE _ ‘
. 1IEBWH—X)HY
R A B HE {ifi £ S
A& A 15 66,900 100,350
FIEHEER A 15 58,600 87,900
HRERA A 1.0 51,200 51,200
5 239,450 239,450 |fEREN 1BET—2)




16 HREHAELEH (B)ERK

1HB(—RA)HY

% By Be B _ffi & # s =
F EHEM A 1.5 98,600 87,900

BETA A 25 91,200 128,000

HERB A 2.5 41,600 104,000

Al C A 20 32,800 65,600

=kl 385,500 385,500 [fEXAEA:1TRE(I7T—R)

17 R= a7 LR OB
| | | TER—R)%Y

A i = H i £ # _HE B
Hfifi & A 1.5 66,900 100,350
X EHED A 1.5 98,600 87,900

HETA A 3.0 91,200 153,600

EIB A 3.0 ‘41,600 124,800

&5t 466,650 466,650 |fEXREH: 1TRE(T—X)

18 T=a 7 JLIERL
THR—R)%Y

i B H= B i & & H_®
T A 15 58,600 87,900

HEfA A 2.5 51,200 128,000

HEmB A 2.5 41,600 104,000

HAfC A 20 32,800 65,600

=X 385,500 385,500 [{EXREH:1HBAKIT—X)




19 ¥ 5EREEDERK

110,000

Bfr:1K
Z % H B 1 z & '
e N 20 66,900 133.800
T T HRET N 25 58.600 146,500
RETA X 25 51.200 128,000
BB x 25 41,600 104,000
HETC x 30 32.800 98,400
St 610,700 610,700 |fEERE -1k
20 EFEARE
: B 1
5 % B = 5 z B
EEROE X 0 86,176 86.176
E 86.176 86,176 |EERED 12
21 ¥R RE
S B 1
S B ] i z &
EETETET = 0 110,000 110,000
it 110,000

WEI RS




